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1 Proof of ρ

In section 1, we prove ` ρ, where
ρ ≡ ¬∃s∀x(x ∈ s↔ x 6∈ x).

We have

{∀x(x ∈ s↔ x 6∈ x),¬s 6∈ s} `∀x(x ∈ s↔ x 6∈ s),
∀x(x ∈ s↔ x 6∈ x)→ (s ∈ s↔ s 6∈ s), (Ax2)

s ∈ s↔ s 6∈ s, (MP)

(s ∈ s↔ s 6∈ s)→ (s ∈ s→ s 6∈ s), (φ↔ ψ)→ (φ→ ψ), (Ax1)

s ∈ s→ s 6∈ s, (MP)

¬s 6∈ s,
¬s 6∈ s→ s ∈ s ¬¬φ→ φ, (Ax1)

s ∈ s (MP)

s 6∈ s. (MP)

By the contradiction metatheorem,
{∀x(x ∈ s↔ x 6∈ x)} ` s 6∈ s. (1)

Also,

{∀x(x ∈ s↔ x 6∈ x), s 6∈ s} `∀x(x ∈ s↔ x 6∈ x),

∀x(x ∈ s↔ x 6∈ s)→ (s ∈ s↔ s 6∈ s), (Ax2)

s ∈ s↔ s 6∈ s, (MP)

(s ∈ s↔ s 6∈ s)→ (s 6∈ s→ s ∈ s), (φ↔ ψ)→ (ψ → φ), (Ax1)

s 6∈ s→ s ∈ s, (MP)

s 6∈ s,
s ∈ s. (MP)

By the contradiction metatheorem,
∀x(x ∈ s↔ x 6∈ x) ` s ∈ s. (2)

Applying the contradiction metatheorem to equations (1) and (2),

` ¬∀x(x ∈ s↔ x 6∈ x).

By the generalization metatheorem,

`∀s¬∀x(x ∈ s↔ x 6∈ x),

∀s¬∀x(x ∈ s↔ x 6∈ x)→ ¬¬∀s¬∀x(x ∈ s↔ x 6∈ x), φ→ ¬¬φ, (Ax1)

¬¬∀s¬∀x(x ∈ s↔ x 6∈ x). (MP).

But

¬¬∀s¬∀x(x ∈ s↔ x 6∈ x) ≡ ¬∃s∀x(x ∈ s↔ x 6∈ x) ≡ ρ. (3)
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2 Proof of σ

For this proof, we work in a language with the constant symbol c.

σ ≡ ¬∃v∀x(x ∈ v)

We have

∀z(z ∈ c) `∀z(z ∈ c),
∀z(z ∈ c)→ z ∈ c, (Ax2)

z ∈ c, (MP)

z ∈ c→ (z 6∈ z → z ∈ c), φ→ (ψ → φ), (Ax1)

z 6∈ z → z ∈ c, (MP)

(z 6∈ z → z ∈ c)→ (z 6∈ z → (z ∈ c ∧ z 6∈ z)), (φ→ ψ)→ (φ→ (ψ ∧ φ)), (Ax1)

z 6∈ z → (z ∈ c ∧ z 6∈ z), (MP)

(z ∈ c ∧ z 6∈ z)→ z 6∈ z (φ ∧ ψ)→ ψ, (Ax1)

(z 6∈ z → (z ∈ c ∧ z 6∈ z))
→ (((z ∈ c ∧ z 6∈ z)→ z 6∈ z)→ (z 6∈ z ↔ (z ∈ c ∧ z 6∈ z))), (φ→ ψ)→ ((ψ → φ)→ (φ↔ ψ), (Ax1)

((z ∈ c ∧ z 6∈ z)→ z 6∈ z)→ (z 6∈ z ↔ (z ∈ c ∧ z 6∈ z)), (MP)

z 6∈ z ↔ (z ∈ c ∧ z 6∈ z), (MP)

(z 6∈ z ↔ (z ∈ c ∧ z 6∈ z))
→ ((z ∈ y ↔ (z ∈ c ∧ z 6∈ z))→ (z ∈ y ↔ z 6∈ z)), (φ↔ ψ)→ ((τ ↔ ψ)→ (τ ↔ φ)), (Ax1)

(z ∈ y ↔ (z ∈ c ∧ z 6∈ z))→ (z ∈ y ↔ z 6∈ z). (MP)

By the generalization metatheorem,

{∀z(z ∈ c)} `∀z((z ∈ y ↔ (z ∈ c ∧ z 6∈ z))→ (z ∈ y ↔ z 6∈ z)),
∀z((z ∈ y ↔ (z ∈ c ∧ z 6∈ z))→ (z ∈ y ↔ z 6∈ z))
→ (∀z((z ∈ y ↔ (z ∈ c ∧ z 6∈ z)))→ ∀z(z ∈ y ↔ z 6∈ z)), (Ax3)

∀z(z ∈ y ↔ (z ∈ c ∧ z 6∈ z))→ ∀z(z ∈ y ↔ z 6∈ z), (MP)

(∀z(z ∈ y ↔ (z ∈ c ∧ z 6∈ z))→ ∀z(z ∈ y ↔ z 6∈ z))
→ (¬∀z(z ∈ y ↔ z 6∈ z)→ ¬∀z(z ∈ y ↔ (z ∈ c ∧ z 6∈ z))), (φ→ ψ)→ (¬ψ → ¬φ), (Ax1)

¬∀z(z ∈ y ↔ z 6∈ z)→ ¬∀z(z ∈ y ↔ (z ∈ c ∧ z 6∈ z)), (MP)

By the generalization metatheorem,

{∀z(z ∈ c)} `∀y(¬∀z(z ∈ y ↔ z 6∈ z)→ ¬∀z(z ∈ y ↔ (z ∈ c ∧ z 6∈ z))),
∀y(¬∀z(z ∈ y ↔ z 6∈ z)→ ¬∀z(z ∈ y ↔ (z ∈ c ∧ z 6∈ z)))
→ (∀y¬∀z(z ∈ y ↔ z 6∈ z)→ (∀y¬∀z(z ∈ y ↔ (z ∈ c ∧ z 6∈ z)))), (Ax3)

(∀y¬∀z(z ∈ y ↔ z 6∈ z))→ (∀y¬∀z(z ∈ y ↔ (z ∈ c ∧ z 6∈ z))), (MP)

(∀y¬∀z(z ∈ y ↔ z 6∈ z)→ ∀y¬∀z(z ∈ y ↔ (z ∈ c ∧ z 6∈ z)))
→ (¬∀y¬∀z(z ∈ y ↔ (z ∈ c ∧ z 6∈ z))→ ¬∀y¬∀z(z ∈ y ↔ z 6∈ z)), (φ→ ψ)→ (¬ψ → ¬φ), (Ax1)

¬∀y¬∀z(z ∈ y ↔ (z ∈ c ∧ z 6∈ z))→ ¬∀y¬∀z(z ∈ y ↔ z 6∈ z), (MP)

≡ ∃y∀z(z ∈ y ↔ (z ∈ c ∧ z 6∈ z))→ ∃y∀z(z ∈ y ↔ z 6∈ z)

We define Cmpr to be the collection of sentences in the comprehension schema in the restricted language without the variable
c. Then

Cmpr `∀x∃y∀z(z ∈ y ↔ (z ∈ x ∧ z 6∈ z)),
∀x∃y∀z(z ∈ y ↔ (z ∈ x ∧ z 6∈ z))→ ∃y∀z(z ∈ y ↔ z ∈ c ∧ z 6∈ z), (Ax2)

∃y∀z(z ∈ y ↔ (z ∈ c ∧ z 6∈ z)). (MP)
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By metatheorem 3.11(i),

Cmpr ∪ {∀z(z ∈ c)} `∃y∀z(z ∈ y ↔ (z ∈ c ∧ z 6∈ z)),
∃y∀z(z ∈ y ↔ (z ∈ c ∧ z 6∈ z))→ ∃y∀z(z ∈ y ↔ z 6∈ z),
∃y∀z(z ∈ y ↔ z 6∈ z). (MP)

Restricting our language to one that does not contain the constant c, the existential instantiation metatheorem shows

Cmpr ∪ {∃x∀z(z ∈ x)} ` ∃y∀z(z ∈ y ↔ z 6∈ z).

Let
ρ′ ≡ ¬∃y∀z(z ∈ y ↔ z 6∈ z),

the result of replacing all bound occurrences of s and x in

ρ ≡ ¬∃s∀x(x ∈ s↔ x 6∈ x)

by y and z respectively. Then because ` ρ, Corollary 3.13 shows that

` ρ′. (4)

By the deduction metatheorem,

Cmpr `∃x∀z(z ∈ x)→ ∃y∀z(z ∈ y ↔ z 6∈ z),
(∃x∀z(z ∈ x)→ ∃y∀z(z ∈ y ↔ z 6∈ z))
→ (¬¬∃x∀z(z ∈ x)→ ¬¬∃y∀z(z ∈ y ↔ z 6∈ z)), (φ→ ψ)→ (¬¬φ→ ¬¬ψ), (Ax1)

¬¬∃x∀z(z ∈ x)→ ¬¬∃y∀z(z ∈ y ↔ z 6∈ z) (MP)

≡ ¬σ → ¬¬∃y∀z(z ∈ y ↔ z 6∈ z)
≡ ¬σ → ¬ρ′.

It can be seen from MP that
Cmpr ∪ {¬σ} ` ¬ρ′.

But also, from metatheorem 3.11(i),
Cmpr ∪ {¬σ} ` ρ′.

Then by the contradiction metatheorem,
Cmpr ` σ.
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